Seat No.

GANPAT UNIVERSITY

B. Tech. Semester VII Electronics & Communication Engineering

Examination, Nov-Dec 2010
EC 706 (B): DIGITAL IMAGE PROCESSIN

Max. Time: 3 Hrs.] & X.
Instructions:

1. Attempt all questions.

2. Answers to the two sections must be written in separate answer.books.

3. Figures to the right indicate full marks. L 4

4. Assume suitable data, if necessary.

Q-1 (A)

(B)
Q1 (A
(B)
Q-2 (A)
(B)
Q-2 (A)

‘image processing system.

SECTION-I

Explain with the help of experimental arrangement image acquisition
using circular sensor strip. ¢
Explain with the help of block diagram t Col nts of a general-purpose

List out different areas of apphi Image processing with their
examples. '
List and explain different file fo

Consider the following i

ts used for representing images.

Justify the st S
paperqoise*through Simple illustration.
OR

‘Perform Ngram equalization of the image given below.
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nalyse 3x3 mean filter in the frequency domain and prove that it behaves
ike a low pass filter.

rite a short note on image enhancement by point processing.

xplain with the help of PDF about Gaussian noise.
Write a short note on Salt and Pepper noise.
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Q-4

Q-4

Q-5

Q-5

(A)
(B)
(A)

(B)
(A)

(B)
(A)

(B)
(A)
(B)

(©)

Classify Shape representatio

SECTION-II

Write a shortnote on Laplacian Gradient operator with its mathematical
derivation and examples of two different masks.
Explain with the help of block diagram DPCM without Quantizer.

OR
Obtain the Huffman code for the word “COMMITTEE”. Also gete e its
average length, Entropy and efficiency.

Explain with the help of block diagram DPCM with Quantizer. \
elow

Apply the spilt and merge technique to segment the image shown b

4
Classify redundancy in images and explain in detail.
OR
Segment the given arbitrary shape shown bel the qiradtree approach.

nd explain in detail.
iques.
-' am of transform based image coding

Explain edge based segme
Draw and explain the glocl

scheme.
Given an image
x(m,n) =

4135

END OF PAPER
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